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Cuadro 14 (continuación 6)/Table 14 (continued 6)
México: tablas abreviadas de mortalidada

Mexico: abridged life tables 
a

2010

Edad/Age  
(x) n m(x,n) q(x,n) l(x) d(x,n) L(x,n) P(x,x+5) T(x) e(x)

Hombres/Males
0 1 0.022 0.022  100 000  2 163  98 138 0.976 b 7 366 204 73.7
1 4 0.001 0.005  97 837   502  390 046 0.996 c 7 268 066 74.3
5 5 0.000 0.002  97 335   210  486 150 0.998 6 878 019 70.7

10 5 0.000 0.002  97 125   229  485 053 0.997 6 391 869 65.8
15 5 0.001 0.004  96 896   420  483 431 0.994 5 906 817 61.0
20 5 0.001 0.007  96 476   675  480 694 0.992 5 423 386 56.2
25 5 0.002 0.009  95 801   907  476 739 0.989 4 942 692 51.6
30 5 0.002 0.012  94 894  1 105  471 709 0.987 4 465 953 47.1
35 5 0.003 0.014  93 789  1 314  465 663 0.984 3 994 244 42.6
40 5 0.003 0.017  92 476  1 601  458 376 0.980 3 528 581 38.2
45 5 0.005 0.023  90 875  2 050  449 250 0.973 3 070 204 33.8
50 5 0.006 0.031  88 825  2 758  437 231 0.962 2 620 955 29.5
55 5 0.009 0.045  86 067  3 836  420 745 0.945 2 183 724 25.4
60 5 0.014 0.066  82 231  5 408  397 634 0.919 1 762 978 21.4
65 5 0.021 0.098  76 823  7 538  365 268 0.879 1 365 345 17.8
70 5 0.031 0.146  69 285  10 139  321 075 0.822 1 000 077 14.4
75 5 0.048 0.216  59 145  12 768  263 807 0.742  679 002 11.5
80 5 0.074 0.312  46 377  14 448  195 766 0.638  415 195 9.0
85 5 0.112 0.435  31 929  13 877  124 952 0.513  219 429 6.9
90 5 0.167 0.578  18 052  10 439  64 162 0.377  94 477 5.2
95 5 0.248 0.729  7 613  5 546  24 200 0.202 d  30 315 4.0

100 ω 0.338 1.000  2 067  2 067  6 115  6 115 3.0
Mujeres/Females

0 1 0.017 0.017  100 000  1 697  98 503 0.981 b 7 851 797 78.5
1 4 0.001 0.004  98 303   410  392 143 0.997 c 7 753 294 78.9
5 5 0.000 0.002  97 893   156  489 076 0.999 7 361 151 75.2

10 5 0.000 0.001  97 737   122  488 381 0.999 6 872 075 70.3
15 5 0.000 0.002  97 615   162  487 671 0.998 6 383 695 65.4
20 5 0.000 0.002  97 453   221  486 714 0.997 5 896 023 60.5
25 5 0.001 0.003  97 232   285  485 448 0.997 5 409 310 55.6
30 5 0.001 0.004  96 947   377  483 794 0.995 4 923 861 50.8
35 5 0.001 0.006  96 570   533  481 520 0.993 4 440 067 46.0
40 5 0.002 0.008  96 037   795  478 200 0.989 3 958 548 41.2
45 5 0.003 0.013  95 243  1 214  473 178 0.984 3 480 347 36.5
50 5 0.004 0.020  94 028  1 872  465 463 0.974 3 007 170 32.0
55 5 0.006 0.031  92 157  2 878  453 589 0.960 2 541 706 27.6
60 5 0.010 0.049  89 279  4 365  435 480 0.938 2 088 117 23.4
65 5 0.016 0.076  84 913  6 471  408 390 0.904 1 652 637 19.5
70 5 0.025 0.118  78 443  9 233  369 131 0.853 1 244 247 15.9
75 5 0.039 0.179  69 209  12 404  315 037 0.781  875 116 12.6
80 5 0.061 0.267  56 805  15 160  246 126 0.683  560 079 9.9
85 5 0.095 0.384  41 645  16 011  168 197 0.561  313 954 7.5
90 5 0.146 0.528  25 634  13 547  94 303 0.421  145 757 5.7
95 5 0.223 0.687  12 087  8 306  39 672 0.229 d  51 453 4.3

100 ω 0.321 1.000  3 781  3 781  11 782  11 782 3.1

Fuente: Centro Latinoamericano y Caribeño de Demografía (CELADE)-División de Población de la CEPAL, revisión de 2017.
Source: Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, 2017 revision.
a	 Elaboración propia mediante la interpolación de las tablas de mortalidad implícitas en las estimaciones y proyecciones de población.
a	 Prepared by Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, on the basis of interpolation of life tables 

implicit in the population estimates and projections.
b	 P(b,5) = [L(0,1) + L(1,4)] / [5*l(0)].
c	 P(0-4) = L(5,5) / [L(0,1) + L(1,4)].
d	 P(95,ω) = T(100) / T(95).


